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Q.No: 1 Who is the first sportsperson from India to get Padma Vibhushan award?

2427520
T fayEOr AR UM A HURd & Ugd R aF 82
Sachin Tendulkar
A
e dgaax
Saina Nehwal
B
T g
Viswanathan Anand
C
R e
Mahesh Bhupathi
D

Rt
Correct Ans : C

Subject : General Knowledge

Q.No: 2 Which team won the Vijay Hazare Trophy 2020-21?

2427532
faora goR gt 2020-21 & & A Sfiare
Uttar Pradesh
A
IR W
Karnataka
B
Fufes
Mumbai
C
T
Kerala
D
Eag|

Correct Ans : C

Subject : General Knowledge

Q.No: 3 Which of the following statement is wrong regarding 'Montreal Protocol' ?

2427571
Hifeaa el & gay & fafafed § § $9 9 $9F Ted 97
It was finalized in 1987
A
9 1987 ¥ 3ifow = foar o
It is a global agreement to protect the stratospheric ozone layer
B
T HATY Yew P 3o e B 8 & Ry v W wehar g
It is the first treaty to achieve universal ratification by all countries in the world.
C

Tz g & it 3= gRT Irh e srgamda T B areft el Ty 21

D India has not ratified this treaty



YRA ISR B PR T A}
Correct Ans : D

Subject : General Knowledge

Q.No: 4 what was the World inflation rate for the year 2020?

2428898
v 2020 & T fay Gerwifa < @@ @
2.42%
A
2.42%
2.15%
B
2.15%
1.94%
c
1.94%
2.18%
D
2.18%

Correct Ans : C

Subject : General Knowledge

Q.No: 5  Which of the following trophy/cup is not associated with the game of golf?
2430532

Frafefaa & A o w1 @ / o9 ies & Aa J gala 78 2

Walker Cup
A

q BY

Ryder Cup
B

RiES gt

Dunhill Cup
c

Sfea 7

Sultan Azlan Shah Cup
D

e 3ol M8 P
Correct Ans : D

Subject : General Knowledge

Q.No: 6  Which of the following was the longest act enacted by the British Parliament?
2432450

& 3 o @ ey dog grn ofFafia wed oo siftfam ar

Government of India Act, 1935

A
R WER R, 1935
Government of India Act, 1973
B
HRA WHR 3RFTH, 1973
Government of India Act, 1919
C
YRd WHR fafam, 1919
Government of India Act, 1833
D

YR WER ifAfaw, 1833
Correct Ans : A

Subject : General Knowledge



Q.No: 7 Who among the following is famous for forming a parallel government in Uttar Pradesh’s Balia district?
2433572

Frofafa ¥ § $9 IR e F s d § THis WeR 99 F R uie @2
Mangal Pandey

A

T qosq

Janeshwar Mishra
B

SR s

Chandra Shekhar
C

AR

Chittu Pandey
D

forg vsT
Correct Ans : D

Subject : General Knowledge

Q.No: 8  What are the percentage of agriculture, forestry, and fisheries in GDP?

2435781

S & PRy, et oR T urer 1 e e ufewd & 2

12 percent
A

12 =T

22 percent
B

22 yfeR

32 percent
C

32 yfem

42 percent
D

42 wfawd

Correct Ans : A

Subject : General Knowledge

Q.No: 9 ‘Zulu’is a tribe associated with which of the following countries?

2437283
g Frafied & & R 33 @ s s 2
Australia
A
afffern
South Africa
B
Eluidcal
Zimbabwe
C
forared
New Zealand
D

Correct Ans : B

Subject : General Knowledge

Q.No: 10 North Indian music style is known by which of the following names?
2440736

IR YR Wil et &) Fofifea & 3 R T § s o 82



A Hindustani

Rg=arit
Karnatic
B
FART
North western
C
I uidH
Manganiyar
D

HFER
Correct Ans : A

Subject : General Knowledge

Q.No: 11 Tulip festival is celebrated in which state?

2440790
=gfer I4a e I B TR I §?
Punjab
A
LEIE]
Himachal Pradesh
B
T TR
Kashmir
C
PR
Uttarkhand
D
WIS

Correct Ans : C

Subject : General Knowledge

Q.No: 12 The Madhya Pradesh Tribal Museum is situated in -

2441047
IO RW S e ARy -
Indore
A
@R
Bhopal
B
Hrare
Gwalior
C
ifeER
Jabalpur
D
SR

Correct Ans : B

Subject : General Knowledge

Q.No: 13 In which of the following months is the Gangaur Festival held in Sheopur of Madhya Pradesh?
2441086

Frafifaa 3 @ g 723 4 Hew Wy & IR A TR A A favar s 82
Chaitra

Eel

B Asadha



ST

Agrahayana
c
SHEaH
Phalguna
D
Rl

Correct Ans : A

Subject : General Knowledge

Q.No: 14 In which city Chandrasekhar Azad was born?

2441283
TSGR WG BT FH 59 TR § ga o2
Bhabra
A
HIST
Allahabad
B
ESIEEICE
Prayagraj
C
VYRS
Indore
D
R

Correct Ans : A

Subject : General Knowledge

Q.No: 15  Which of the following peaks is NOT in Madhya Pradesh?
2441449

e 8 & 9 9 9w W F 9 32
Chauragarh

LU

Purogarh

g

Titangga Pahar

forct weTSt

Taramati

AREH

Correct Ans : D

Subject : General Knowledge

Q.No: 16 Where is the Madhya Pradesh Rural Road Academy (MPRRA) located?
2441507

TRl A TSH Siped! (TA. L3R, IR T.) FEl R 32

Bhopal
A

e

Gwalior
B

IR

C Jabalpur



WEAR

Indore

Correct Ans : A

Subject : General Knowledge

Q.No: 17 In 2020, the largest solar power project in Asia (new 750 MW solar power plant) in Madhya Pradesh, was inaugurated by Prime Minister Mr. Narendra Modi in which city?
2441664

2020 ¥, A U B TRAT 3 TY 7 YR SHof RG] (T 750 TEIE WR IRool WU FT Igure Gur w4t oft s At A form wg” & foma ur?

Ratlam
A

s

Jhabua
B

g

Rewa
C

Jar

Sidhi
D

R

Correct Ans : C

Subject : General Knowledge

Q.No: 18 How many regional centres of the MP Industrial Development Corporation Limited are the in Madhya Pradesh?

2441677
Ao w1 # Ay el ey e fifies & R aefl 3% 82
3
A
B
5
7
C
7
11
D
11

Correct Ans : B

Subject : General Knowledge

Q.No: 19 Who among the following constructed the building of High Court at Jabalpur?

2441691

fPofifea & ¥ e SeaR § S arer & Ha- o Rt far ar

Seth Govind Das
A

95 Tifde e

Rani Durgavati
B

R gt

Raja Gokul Das
Cc

T T T

Rani Kamlapati
D

I SHARY

Correct Ans : C



Subject : General Knowledge

Q.No: 20 which Article of the Constitution of India allows the Advocate General to speak in the Legislative Assembly of the State?
2441723

URA & AU T SH W e TeTaad S I59 @) faum g1 § dem 31 srafa 3 g2

Article 177
A

IIDE 177

Article 172
B

3G 172

Article 168
C

ITDT 168

Article 161
D

ITDE 161

Correct Ans : A

Subject : General Knowledge

Q.No: 21 Name an analyser that are used to measure the amount of quicksilver content in the drinking water?
2422846

34 faxawes o1 A1 Farsy Rt Iugi WA & ot § @ita 9id @t oen $ aoa & fne [ s 2

Mercury analysers

A
RT faivs
Lead analysers
B
s fasdws
Barium analysers
C
Sfvam s
Cadmium analysers
D

Fefmy faxdve

Correct Ans : A

Subject : General Science

Q.No: 22 TSS stands for :

2422849

Aaey o1 7w ¢

Total suspended solids
A

Fa feifea 3

Total solid suspended
B

Fa o Fdfa

Two stable solid
G

QA RRIW

Two suspended sols
D

FRECIECESIG]
Correct Ans : A

Subject : General Science

Q.No: 23  Eutrophication leads to:
2422851



GLMBHRIA &l 3R SIdl B2
Increased BOD

A
g1 go fiafdt
Decreased BOD
B
HeT g dtaiist
Constant BOD
C
RR sftafist
BOD unchanged
D

RafiSt safvafia

Correct Ans : A

Subject : General Science

Q.No: 24  One of the reason of getting cancer is due to .
2423006

HTW TR BT TS BRU g gl

Tapioca consumption

23t BT A

Tobacco consumption

Bl kice

Unbalanced diet

ST MER

Junk food

P %S

Correct Ans : B

Subject : General Science

Q.No: 25 Overdose of may affect our body.

2423015
1 3P HE FAR IRR B MR B TSl § |
Water
A
Tt
Food
B
o
Medicines
C
—
Fluids
D
W gard

Correct Ans : C

Subject : General Science

Q.No: 26 Vaccination is important to prevent what?
2423044

T A5 S 1w 1o mgagyf 32

A Over population



SIS SIS

Infectious diseases

B
WS
Aging
C
TG
Heart diseases
D

Ra® A

Correct Ans : B

Subject : General Science

Q.No: 27  Which of the following is one major classes of vertebrate animals?
2428728

frmfafea 3 § 1 S sigel 1 T g 37

coelenterates

A

e

Annelida
B

RIS

bryophytes
C

FGREET

Reptilia
D

wégr

Correct Ans : D

Subject : General Science

Q.No: 28 Choose the odd member out:

2428735
v wew &1 g
millipede

A
faferdts
centipede

B
PR (FE0S)
lobster

C
i el (iaweR)
leech

D
EiEd

Correct Ans : D

Subject : General Science

Q.No: 29 Name the type of pollution seen in the atmosphere in the form of gas.
2429025

R % 9 F FrareRu # 3@ STH 910 WgyY F THR B A SR

Water pollution

A
T g
Smoke
B
it

C Soil pollution



LU

Dust pollution

LR
Correct Ans : B

Subject : General Science

Q.No: 30 Which of the following are not the visible pollutants known to you?

2429034
Frfied & ¥ S 9 €20 TP Y I e 82
Animal and plant wastes
A
Ty 3R Al & emufdry
Pesticides
B
PICAYS &al
Insecticides
C
P Tarf
Chlorofluorocarbons
D

FARITARIPTET

Correct Ans : D

Subject : General Science

Q.No: 31 Metazoans are:

2429840
el §:
multicellular organisms
A
FHIRSE sHa
unicellular organisms
B
THPIRY Sid
autotrophs
C
Tt
cryptogams
D
Eauic

Correct Ans : A

Subject : General Science

Q.No: 32 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429867 the correct answer to the question from the given options.

Assertion : (A) An animal found had tunic or test like structure in its body.

Reason: (R) The organism belongs to the subphylum Urochordata.

A Fofafd vy ¥ @ $uF § RS 3 @ o) ey R R B "SR S F9 3 A9 5 T f1 sruw 37 Al Sl 3 aayrigde oig w3 o R e e § 3 vy a1 @ Sw
SHfFHY: (T) UIT MY TR & TRR H SR a1 weron St W o

RO (HR) Sid ITHIZAH JADIS el F Taifdd g1

(R) is true but (A) is false.

(R) 9 ¢ Af (A) 3R 1
(A) is true but (R) is false

(A) 94 & AP (R) 3@ §



C (A) IS Taise.

(A) 3EA B

(R) is the correct reason for (A)

(R) (A) ¥ RiT W RU &
Correct Ans : D

Subject : General Science

Q.No: 33 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2430040 the correct answer to the question from the given options.

Assertion (A):Naphthalene balls kept with clothes to be put away.

Reason(R): Naphthalene balls are made up of substances that can sublime, i.e, they convert from gaseous form to solid form directly.

P Pofafed uy & < o6 & e 3w o sfieya iR g &1 "SR F FY H daa 691 T 1 3UST 37 G HuE1 B SrayHigds g St § SR 3 e st # vy &1 96 Iw
U (A) : TUST F U T TGl ST B g R

PR (R) = A F 1 T vl F 99 91 § 1 S & Ipal €, srufa § WY Ifw w0 & 3 wu H uiafda @1 91§

Both A and R are true

A

AdRRITTAE

Both A and R are false
B

A 3R R 3 o §

A is true but R is false.
C

A T § AR R S B

A is false but R is true.
D

A 3T 8 AT R YA R
Correct Ans : C

Subject : General Science

Q.No: 34 is used to make candles, ink, crayons etc.
2430081

T, e, S onfe s & fow _ Iudi fasar S 31

Petrol
A
LG
Paraffin wax
B
Fufts A
Kerosene
C
FAR
Coal
D
Fraen

Correct Ans : B

Subject : General Science

Q.No: 35 ______is a specific form of polyester called polyethylene terephthalate.
2430117

TieligaEe SYHIE e Tk BT AR wu gl

Terylene
A

Gt

B Polyester



UMYX

Synthetic wool

c
RAfRs o
PVC

D
Bt

Correct Ans : A

Subject : General Science
Q.No: 36 Find the wrong term in the series?
2422594

12, 32, 72, 152, 322, 632

Sl | TTeTd hH BT Yl aa?

12, 32, 72, 152, 322, 632

152
A

152

322
B

322

632
C

632

72
D

72

Correct Ans : B

Subject : General Reasoning
Q.No: 37 Find the wrong term in the series?
2422619

3, 10, 20, 33, 49, 68, 88

g | TTAd $HH BT gl Ae?

3, 10, 20, 33, 49, 68, 88

88
A

88

68
B

68

33
c

33

49
D

a9

Correct Ans : A

Subject : General Reasoning

Q.No: 38 Find the odd word out.
2424523

SR e HT TG BifT

A Lionel Messi



ferda At

Sergio Ramos

B

Wl

Lewis Hamilton
(o

A FfeeT

Robert Lewandowski
D

fad arerat
Correct Ans : C

Subject : General Reasoning

Q.No: 39 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.
2426300
QIOK : MMKO :: YAWC : ?

I 3HER-TIE BT 0 X ol AR HeR-TUg J SH UPR Tafld § I gU S1eR-THE, U HeR-Tg I el 31

QIOK : MMKO :: YAWC : ?

USGA
A

USGA

UESG
B

UESG

VUES
C

VUES

SUEG
D

SUEG

Correct Ans : B

Subject : General Reasoning

Q.No: 40  Select the option /number which is related to 3" number in the same way as 224 pumber is related to a
2426400
st number?

9:8:25:?

30 TEAT /fasheT &1 99 & A SEd TEO ¥ 3 Ye6R TEftd § oW gud g ggelr
wEar ¥ wafa B
9:8::25:7?

27
A

27

64
B

64

121
C

121

4
D

4

Correct Ans : B

Subject : General Reasoning

Q.No: 41 In the given diagram, Triangle represents red balls, Rectangle represents plastic balls and Circle represents metal balls.
2426610



What is the ratio of only metal balls to plastic red balls?

fu e ey B, fye wifed $t a1 A5al o1 uiaffiid o= §, smgd wifkes gl o1 ufaffid oxar § ok 39 u1g @1 78 &1 wliffa sxar g

aal urq B WS B Wik P ard el § g fbar 82

9/11
A

9/11

577
B

5/7

3/7
c

3/7

9/17
D

9/17

Correct Ans : C

Subject : General Reasoning

Q.No: 42 Pointing to a girl Sunita said “She is the daughter of the only daughter of my father.” How Sunita is related to that girl?
2429580

TF TSP BI AR IURT IRA U AN A Fg1 a8 W e 7 gt a4 9 & 31" T S0 gt F H wafdd &2

Mother
A

|

Sister
B

Gl

Aunt
C

3t

Daughter
D

&

Correct Ans : A

Subject : General Reasoning

Q.No: 43 Which of the following expression represents S is the paternal uncle of D?
2429606
A X B — Ais the brother of B

A + B — Ais the father of BA + B — A is the husband of BA - B — A is the granddaughter of B

Frofafea § & o 9t siftrefe oz oxfdt § & s, D @1 siva &2
AXB—A BIIHER
A+B—A BPIR@Y

A+B—A BHURE



A-B— A B®IUE

SxY=+D
A

SxY=+D

S+Y=D
B

S+Y=D

SxY+D
C

SXxY+D

S+Y-D
D

S+Y-D

Correct Ans : A

Subject : General Reasoning

Q.No: 44 Which answer figure will complete the pattern in the question figure?

2433476

N>

4]
B
%
&
&
K
>




Correct Ans : B

Subject : General Reasoning

Q.No: 45 Find the Answer Figure from the Question Figure?
2433521

IW AP T I T i fadmed gaHR Uy 1Pl 3 1 o

Correct Ans : B

Subject : General Reasoning

Q.No: 46 Select the option that is related to the third number in the same way as the second number is related to the first number.
2434901
4:62::7:7?

39 faeq &1 797 &% St et Tem & St veR Jeiid § O get e, e e @ wefid 71
7:336::9:7?
790

790
B 512



512

720
C

720

689
D

689

Correct Ans : C

Subject : General Reasoning

Q.No: 47 Identify the diagram that best represents the relationship among the given classes.
2435655
Pen, Stationary, Car.

I AR BT UETE B 9 3T T AR F St Fee 1 TR o1 v war 31
A, VIR, FR

oy

@
©O
©O
)
@
OQQ
QOQ

Correct Ans : B

Subject : General Reasoning

Q.No: 48 Find the number of rectangles in the given figure.
2438088

& S et & S W W B




10

7
B

7

11
C

11

8
D

8

Correct Ans : B

Subject : General Reasoning

Q.No: 49 Mr. Thakre travels 12 km towards east, then 8 km towards north and finally 6 km towards west. How far is he from the starting point?
2438499

oft TR gd Y SR 12 flt, fRR ITR Bt o) 8 forlt ofR of A ufdm Y ok 6 forrlt B arn F7a §1 I8 o fig d fra it R B2

10 km
A

10 frft

32 km
B

32 et

18 km
c

18 forft

24 km
D

24 &

Correct Ans : A

Subject : General Reasoning

Q.No: 50 Three of the following four number-pairs are alike in a certain way and one is different. Find the odd one out.

2438845
Frafafea & 3 9r 3 3 I Fen @ R 7F 3 o R 3 96 81 v don i 8, v &1 3
9:26
A
9:26
49:32
B
49:32
36:63
Cc
36:63
25:50
D
25:50

Correct Ans : C

Subject : General Reasoning

Q.No: 51 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440187 |ggically consistent with the main statement.

When we feel assured, we perform well
A. we felt assured

B. we did not feel assured

C. we performed well

D. we did not perform well



TST T W § §8T B R I9F §1G IR $YT §1 FUT P A H I, SI5T T80 ST BT A0 TR YT 9 §, 3R < H4F aed Y § T8I $UT 9 d 81
T GH S HEYd B ©, o H ST USRH P4 §

A. TFA ST Hegd fan

B. A 1% HeQy el faan

C. T 31 e feban

D. T 35T Yeki e

AC
A

AC

BA
B

BA

DA
C

DA

cD
D

CcD

Correct Ans : A

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440386 logically consistent with the main statement.

The pen belongs to either you or me.
A. The pen belonged to you

B. The pen did not belong to you

C. The pen belonged to me.

D. The pen did not belong to me.

fow g vy § 9w U SR IS 918 TR FUA 1 HU BT B0 g T, et Ted SUH B A g F9F § , SR 3§ T aifhd w1 § 7 $F § 9a B
AT A1 Al 39 B g a1

A. T A At

B. B 3] g1 oA

C. HaH 7 o

D. e 1 T At
AB

AB
DB

DB
CcD

CcD
BC

BC
Correct Ans : D

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440397 logically consistent with the main statement.

The book is based either on environment or on biodiversity
A. The book is based on environment

B. The book is not based on environment

C. The book is based on biodiversity

D. The book is not based on biodiversity.



&Y Y Y B GO S RSP §1G IR BUA g1 HUAT BT B T I, W51 Ugd U BT diid GER U G G, 3R & HUA b U § G HY | Wl 51
IEIP A1 A TR R A oG fafderar W aneikd §

A. 95 qaferol &R e §

B. TR TOTERY TR SUIRE e §

C. Y@ oig fafderar w anenRa §

D. J&i@ 9 fafdear W sneika 1 8

AB
A

AB

DA
B

DA

CA
C

CA

BD
D

BD

Correct Ans : B

Subject : General Reasoning
Q.No: 54 Select the related letters from the given alternatives.
2441960

ACE : YAC :: BDF : ?

fou g feeedl A 3 Yeifdd oferl ® gFu

ACE : YAC :: BDF : ?

PRS
A

PRS

XYA
B

XYA

ZBD
C

ZBD

FDB
D

FDB

Correct Ans : C

Subject : General Reasoning

Q.No: 55 Select the option that is related to the third word in the same way as the second pair is related to the first pair.
2441974

Clever : Stupid :: Constant : ?

39 fawed &1 797 X St TR Teg A I e el B SR ORI Wieg URd Wek & Weifda 3

IR 1{@ 2R 2
Vowel
A
R
Fear
B
51

(o} Changeable



URJdARITST

Destruction

o=

Correct Ans : C

Subject : General Reasoning

Q.No: 56  Simplify: 127+ [189 - {63 +3(7+9
2429360 mplify [ { 7+9}

WA DI 127 +[189 - {63 +3(7 +9)}]

200
A

200

205
B

205

280
C

280

260
D

260

Correct Ans : B

Subject : General Maths

Q.No: 57 - gimplify: 46 - [15 - {14- (15-4+2x2)}]

2422384
WA SIE: 46-[15- {14-(15-4+2 % B
30
A
30
32
B
32
34
C
34
40
D
40

Correct Ans : C

Subject : General Maths

Q.No: 58 Find the compound interest on Rs.16700 for one year at the rate of 20% per annum, if the interest is compounded quarterly.
2423606

16700 T BT 20% Ui 99 1 X A P a9 P Tl STl FId B, T <1 IARD 29 81
Rs.5411.6543

A
Rs.5411.6543
Rs.3632.7890
B
Rs.3632.7890
Rs.5192.4532
C

Rs.5192.4532
D Rs.3598.95438



Rs.3598.95438
Correct Ans : D

Subject : General Maths

Q.No: 59 Pari borrowed a sum of Rs.21200 from a finance company to purchase a refrigerator. If the rate of interest is 7% per annum compounded annually, calculate the compound int
2423621 that Pari has to pay to the company after 3 years.

T8 A TP e Tlied & R tF BIzg Suh ¥ 21200 I8 F AR IUR 9@ | A S B R 7% vl o affes Gfer B, A 59 Iafe s B 0T &8 S IR Y 3 96T & 918 SO B YT
Rs.4501.4380

A
Rs.4501.4380
Rs.8765.8976
B
Rs.8765.8976
Rs.56709.3214
C
Rs.56709.3214
Rs.4770.9116
D

Rs.4770.9116
Correct Ans : D

Subject : General Maths

Q.No: 60 Solve:

2428586
(559 x 4 +326 x 4-300+ 10 -[52 x5 +244 4+ (10 2+ 22 x4 -42 x )]}
B P
(559 x 4 +326x 430010 -[52 x5+ 244 =4+ (10 +2+22x4-42x )]}
-28.9
A
-28.9
27.9
B
27.9
-27.9
Cc
-27.9
29.9
D
29.9

Correct Ans : C

Subject : General Maths

Q.No: 61 Find the average of first 20 multiples of 3?

2432541
3 & UYH 20 U $T 3 T PifoE?
15
A
15
315
B
31.5
30
c
30
20
D

20



Correct Ans : B

Subject : General Maths

5434082 Find the roots of the quadratic equation x2-3x-10 =10

feara THIROr x2-3x-10 = 0 & T AT il

5,-2
A

5,-2

3,2
B

3,2

5,2
o

5,2

4,3
D

4,3

Correct Ans : A

Subject : General Maths

Q.No: 63

2434742 1 - ) .
If (x tet 2) 0, then the value of (x* — x) is

g (r+31+2)= 02 (x* = X))o HIF Jd DI |

2
A

2

-1
B

-1

1
C

1

0
D

0

Correct Ans : A

Subject : General Maths

dasazre 20880 -6dct o 3-2
f 8ab . then the value of ¢ is:
3 3 3 -
27a ::b 64c” _ 9c’ Eﬁ 3ac2b$[m%:
-1
A
-1
2
B
2
4
c



0
Correct Ans : C

Subject : General Maths

Q.No: 65 Amit faces 4 % loss by selling a shirt for Rs. 1200. At what price should the shirt be sold to earn 4 % profit?

2435217

S BT 1200 I DI TF TG IR 4% THIH §3M11 4% 1Y AR T & g =1 o1 g Fad w S 5 anfgee

Rs. 1270
A

1270 ¥08

Rs. 1432
B

1432 308

Rs. 1300
c

1300 390

Rs. 1350
D

1350 ¥0¢

Correct Ans : C

Subject : General Maths

Q.No: 66 The marked price of a basket is Rs. 600. The shopkeeper allows a discount of 20% and gains 60%. If no discount is allowed, his gain per cent would be
2435237

% AF H1 Rk FHT 600 I F1 FFFGR 20% Bt T 3R 60% T YK vl ¢ A FE ge Aol o ol B, A SGHT @ v grm

60%
A

60%

75%
B

75%

50%
C

50%

100%
D

100%

Correct Ans : D

Subject : General Maths

Q.No: 67 Raju sells an object at 20% below its cost price. If he sold it for Rs. 450 more, he would have made a profit of 25%. What is the original selling price (in Rs.) of the object?
2435297

9 T 9 B TSB! A0 T F 20% FH W §I1 1 I TG T 450 I 34fF F S T, ITA 25% BT A FHAT TN A a¥g 1 g [pd g (F H) I B

900
A

900

700
B

700

500
C

500

800
D

800



Correct Ans : D

Subject : General Maths

24'\13% 46785 Ram spendé of his allowances on the food. What fraction of his allowances had left?

wmwmﬁméﬁm%lﬁmuﬁaﬂmﬁwmaw

2
7
A
2
7
3
7
B
3
7
4
7
C
4
7
5
7
D
5
7

Correct Ans : A

Subject : General Maths

. 4765, .
8&'\‘3"7‘4%95 Amange ;5.5 in ascending order:
4765 i
2.2,2,2 %1 AR A H HafUa e
4765
s's’'8’6
A
1763
s'g’s’6
4756
s’'s’s’e
B
2756
s's’'8’e6
75641
s'g’'s’e6
C
z2364
s'g’s8’e6
6457
8's'6'6
D
6457
8's’6’6

Correct Ans : D

Subject : General Maths

Q.No: 70 A herd of cows gives 5 litres of milk each day, but each cow gives one fourth of total milk each day. They give 35 litres of milk in 7 days. How many cows are there in the herd:
2437555

Tl &1 e g3 vl i 5 ofier gu a1 B, e U T TR S gy &1 U i 3 31 7 Rl F 35 diex g & ¥ @ 39 g3 & o et T &2

A 2 cows



2T

3 cows
B

37T™

4 cows
C

4T

5 cows
D

57Tg

Correct Ans : C

Subject : General Maths

Q.No: 71 If in a symbolic language ‘RARE’ is written *‘SBSF’ then 'AREA’ will be written in the same language as?
2422544

T St Widbfad Ul & 'RARE' ®I 'SBSF' feRaT WU 1 'AREA' &1 I4T ure1 # feran s forgaf?

FSBS
A

FSBS

BSBF
B

BSBF

SBFB
C

SBFB

BSFB
D

BSFB

Correct Ans : D
Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘STAGE' is written *HGZT’ and *HORN’ is written ‘SLIM’ then *NORTH’ will be written in the same language as?
2422574

Ife; fopeft Aihfass LT & 'STAGE' &1 'HGZT' ferar 9T & SR "HORN' &1 'SLIM' foraT et 8 & 'NORTH' &1 3t v & forar smam fordl?

NLGMI
A

NLGMI

MLIGS
B

MLIGS

MGLIS
C

MGLIS

NLGIS
D

NLGIS

Correct Ans : B

Subject : Mental Ability

Q.No: 73 Tn a row of 45 boys, A is 19% from left end and B is 23 from right end. Then find how many boys are

2425592 1) between A and B?
45 TGP 3 TP UfRT F, A T DR Y 199 WA WY IR B I SR F 235 RIM W 1 A 0 PRI A 3R B & 7en e g @2
6
A
6
7
B



C
9
5
D
5

Correct Ans : D

Subject : Mental Ability

Q.No: 74 In a certain code, 15789 is written as XTZAL and 2346 is written as NPSU. How is 23549 written in that code?

2426510
T AT B8 H, 15789 BT XTZAL 3R 2346 HT NPSU &F w0 ¥ foran orar §1 S #1 § 23549 &1 H foran airen 32
NPTUL
A
NPTUL
PNTSL
B
PNTSL
NPTSL
c
NPTSL
NBTSL
D
NBTSL

Correct Ans : C
Subject : Mental Ability

Q.No: 75 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430225 ommonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: People who speak very much against the dowry system are those who had taken it themselves.
Conclusions:
I. It is said that it is done.

II. The People have double standards.

frofafaa wsit ®, &) o ) fIsHy 1, 11 &7 S0 IR § SIS S Sl TR AR &A1 g, 4 8t 4 SmaR W 1 qeif & welia 9 @1 ot 4 fou e st & afe; e 1 ) Iat 9gm

PUT: S AT <& W7 & (e Sgat wamer died §, 3 9t § R 39 g fern am
e

1. a1 g1 ST € 5 T faan o €1

11. TRt 3 Y TS B

Only conclusion I follows

A
Faa s T SR BT
Only conclusion II follows
B
o ey 11 SRRV SRl 3
Either I or II follows
C
1 G I A7 1T SR Hell §
Both I and II follow
D

I 3R 11 S SRRy B3 §

Correct Ans : D

Subject : Mental Ability

Q.No: 76 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430254 commonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.



Statement: No state is absolutely self-dependent these days.
Conclusions:
1. It is impossible to grow and produce all that a state needs.

II. Every state in general has become old.

Frofefaa usit &, 3 Fu= &) fIspy 1, 11 BT SER0T IR § S1UD! Sl Sl R faaR o g1, 4 €t 3 SmaR W 3id aadi S wedia g9 @1 angst 3 fow e st & afe; e g1 & 31 3am

P DS T 31 R gt e § smafRk T R

frspy:

1. T o0 B SEd B R T BT [P IR FIGA BTl SHa g
11 AR AR R 8% 30T AT 61 I &)

Only conclusion I follows

A
e Frepd I 3R Bl §
Only conclusion II follows
B
Fad sy 11 SFFER Hdl §
Either I or II follows
C
18 1 97 11 R0 B §
Neither I nor II follows
D

FA 1 AR T 11 TR FRaT§
Correct Ans : A
Subject : Mental Ability

Q.No: 77 In a certain code language, ‘*OVERLAY’ is written as ‘LEVIOZB'. What is the code for "MOBILE’ in that code language?

2434431
% fAfyd He uT H, *OVERLAY’ $ 'LEVIOZB’ & w4 # RRrar < 31 I#t e w1 # *MOBILE' & f %1 e 872
MLRYVO
A
MLRYVO
NLYROV
B
NLYROV
NYLOVR
C
NYLOVR
LMROVY
D
LMROVY

Correct Ans : B
Subject : Mental Ability

Q.No: 78 In question below are three statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance fi
2435467 commonly facts and then decide which of the given conclusions logically follows from the given statements.

Statements:

1. Some papers are files.

II. Some files are data.

II1. Some data are records.
Conclusions:

1. Some papers are records.

II. No papers are records.

A Ru e uy & @ w3 e § R a1 <) ey 1 6R 11 RRE e ¥ o R Y SRl ) e w8, 4 8 A weg qedl @ R wdia 919 8 SR R q o6 5 o ey Ry e e
qfehes ¥ | SR el 7

DY



1. & UR BEA G
11, T B39 1l ¢l
111. $© 31l Rig &1
e

1. 9 TR Ra1E g

11 B IR N1 Td ¥

Only conclusion I follows.

Fad sy 1 R Ha Bl

Only conclusion II follows.

o Py 11 SRR B B

Both conclusions I and II follows.

Bt s 1 3R 1T SRR A 7

Either conclusion I or II follows.

o s 1 a7 11 SR v 81
Correct Ans : D

Subject : Mental Ability

Q.No: 79 In the following question, some statements followed by some conclusions are given. Taking the given statements to be true even if they seem to be at variance from commonly
2435527 ynown facts, read all the conclusions and then decide which of the given conclusions logically follows the given statements.

Statements:Some boys are girls.

Only a few girls are student.
Conclusions:I. Some boys are student.
II. All boys are student is a possibility.

II1. All girls are boys.

F R vy B o U SR ITF T& ST B W NG Fo e Ry 1T F, gIeifs S S i audt & e @ wed g e fred 0g ok fiR Ruia #¥ fF Ry g e @ freed, f
YAl F YR W R |

YT :

o T Tsieal BE ¥

gy

1. $© 98 A B

11, T 8% B B, TE T AW &1

111w TSfE as® B

Only conclusion I follow

A
Faa Py 1 SR BT §
Either I or II follow

B
1A 197 1T STER Bl §
Both I and II follows

C
1 3R 11 Rt Srgemur Fa §
Only II follow

D

PIq 11 SR Tl §
Correct Ans : D
Subject : Mental Ability

Q.No: 80
2438550



In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.

Statements:

G>R2ZE=A<LST<LS

Conclusions:

I.LE>G

II.LALS

TAFATaTEd e &, el & arg favad fGu v §)

fET 31T et & FTUR W Ay &7 Feade 1 AN 39 S0) & &9 & 39 faded & aga Hi |
e

G>R2E=A<T<S

foread:

LE>G

ILASS

Only conclusion II is true

A
Faa e 11 9T
Only conclusion I is true
B
Faa ey 199§
Either conclusion I or II is true
C
PiciRsa & B in
Neither conclusion I nor II is true
D

TR ARAH I TaR
Correct Ans : A
Subject : Mental Ability

231\13%58711 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
A<B<C<D=E
Conclusions:
I.B<E
I.C<E

TAFATRIT 9 A, FYUAT & dIg, ooy 6T 1T §

T 97T FoT & HUR R FwT & Fedaer H AT 391 3ecX & &9 5997 [qamed & 99 F{
Fy:

A<B<C<D=E

ey

I.B<E

IL.C<E

Only Conclusion I follows

A
Faq ey 199 8
Only Conclusion II follows
B
Faa P 11 T §
Either Conclusion I or II follows
C
g o wad
Neither Conclusion I nor II follows
D

TFafef I iRT{ITTR
Correct Ans : B
Subject : Mental Ability

Q.No: 82
2438600



In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.

Statements:

A2Z=B,C>Y2B,E<A

Conclusions:

I.LELB

I.C>A

TAFAfTad 93 &, FUAT & arg fsed G 7w g

&0 31T @erell & ITUR TR TeTsehd T e Tt B N I ook & &9 & 3ugerd fawed & a8 H
U

A2Z=B;C>Y2B;E<A

o

LE<B

IL.C>A

If only I follows

A
Faa i 1947
If only II follows
B
Faq e 1190 ¥
If either I or II follows
C
a1 <t A 197 11 9 7
If neither I nor II follows
D

AP I IRTRIITTR

Correct Ans : D

Subject : Mental Ability

Q.No: 83 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance f
2439086 commonly known facts. You have to decide which of the given conclusions, if any follow from the given statements.

Statements:

Some days are working days.
Some holidays are working days.
Conclusions:

1. Some holidays are not days.

II. No day is a holiday.

1 fRw TTT gy W S B quT ST UyIa < Feey 1 aur 11 RU T ¥ | e R T S B I AT §, M &) 98 dTid 9t § i Tedld @9 & quT Sl S MR TR 1Y S IeR S 8
P

39 e o Raw §)

Fo giedi o aw g1

frsp:

1. po g A T &1

11. 9% R get 7 31

Only conclusion I follow

Pl Frspe 1 3R BT ¥

Only conclusion II follows

aa Py 11 IR Sl §

Both conclusions I and II follow

BT sy 1 iR 1T SRR 9Ra &

Neither conclusion I nor II follows

T el 1 R T € 1T SR e

Correct Ans : D
Subject : Mental Ability



Q.No: 84 Which one of the given responses would be a meaningful order of the following?
2442682

1. Week

2. Month

3. Day

4. Minute

5. Year

e R § § $H-91 e 1 R 3T 3= & wde o0 1 q2far 82
1. e

2. WEH

3.1

4. fire

5. 9
3,1,4,2,5

3,1,4,2,5
4,3,2,1,5

4,3,2,1,5
4,3,1,2,5

4,3,1,2,5
3,4,1,2,5

3,4,1,2,5
Correct Ans : C
Subject : Mental Ability

Q.No: 85 Arrange the following words as per their order in the English dictionary.
2442719

1. Follicle

2. Folk

3. Follow

4. Foliage

Froffed wsdl 3 il Wdiw & 3T 1T B F oreR fRifdul
1. Follicle

2. Folk

3. Follow

4. Foliage

4,2,1,3

4,2,1,3

3,4,2,1

3,4,2,1
4,3,1,2

4,3,1,2
2,4,3,1

2,4,3,1
Correct Ans : A

Subject : Mental Ability

Q.No: 86 Ravi can do a piece of work in 220 days. How much work can he do in 16 days?
2423686



Xd U DIH &I 220 Tl H &R Jebdl &1 98 16 Tl H Thd-l $IH H APhdl 87

4
55
A
4
55
1
8
B
1
8
2
9
C
2
9
4
25
D
4
25

Correct Ans : A

Subject : General Aptitude

Q.No: 87 Which of the following is divisible by 8?

2427595
frofefaa & § 3 8 § favrsa ¥2
23616
A
23616
10848
B
10848
39812
c
39812
46243
D
46243

Correct Ans : B

Subject : General Aptitude

Q.No: 88 The age of a father is equal to the sum of the ages of his 5 children. After 15 years, sum of the ages of the children will be twice the age of the father. The age of father is:
2431228

U a1 31 3G IFF 5 T B g b AT F RISR ) 15 99 91, T 1 3g B AT e oy 1 S v e 3 oy §:

A 39 year
39 a§
B 40 year
a0 9§
c 42 year
42T
45 year
p asf

Correct Ans : D

Subject : General Aptitude

Q.No: 89 In the given figure, AABC is an equilateral triangle. Find 2BEC.

2431349 N
o \ > {)
( / //’/ NE
\o Y
l‘b\\‘:\: ///(

e fer &, AABC U GHaTg Ay B, Ot £BEC &1 W 1A SIfoT:



A 60 degree
60 &

120 degree
120 f&h

80 degree
8o fiit

90 degree

D 90 R

Correct Ans : B

Subject : General Aptitude

Q.No: 90 A drives at the rate of 45 km/h and reaches its destination 4 minutes late. If speed is 60 km/h, A reaches 5 minutes early. The distance traveled by A is:
2435980

A 45 Tt / deT 9t @) § gEa e § SR 4 e 38 @ oo Tided we ugae 1 Ife R 60 At/ HeT §, 1 A 5 e ved ugEa 1 A gRT T S g8 |

24 km
A

24 f&uft

30 km
B

30 ..

27 km
c

27 faft

21 km
D

21 ..

Correct Ans : C

Subject : General Aptitude

Q.No: 91  Two cars start at the same time from one point and move along two roads at right angles to each other. Their speeds are 36 km/hr. and 48 km/hr. respectively. After 15 secon
2436025 (istance between them will be -

< HR e R fig § aowion R & g ardt &) sier-ora Sd! R 9HH I W 901 URH IR §| 3 It it w36 o, /der qur 48 et/
Hel g1, d 15 I5s & 918 90 &g 31 gl gt -

400 m.

400 .

150 m

150 .
300m

300 #i.

250m

250 #H.
Correct Ans : D

Subject : General Aptitude

Q.No: 92 A train leaving from New Delhi at 6am with speed of 35km/h towards Jaipur at same time other train B moving from Jaipur to New Delhi with the speed of 45km/h. They cover
2436039 (gistance is 560 km. Find the time when they will meet each other.

T 1 7S Rl A TR & R gag 6 59 35 fdl/der 39t 7ra | Todl ¥ iR I IHg U gEl 97 TR A58 Rl ¥ g 45 Rty der ot ora @ 9o 71 9 375% 9 $ g seo Rt g v
TS g I F9 fircdti?

12:00 am

12:00 am
B 1:00 pm



1:00 pm

8:00 am
c

8:00 am

7:00 am
D

7:00 am

Correct Ans : B

Subject : General Aptitude

Q.No: 93 The efficiency of A, B and C are in the ratio 5 : 6 : 9. Working together, they can complete a work in 18 days. In how many days can B alone complete 25% of that work”!
2436081

A, BIRCH T I A5 : 6 : 9 ], T T FH FA U ¢ bl F19 1 18 fai A TG o UHd 7, B (BN 39 FH F 25% U F e e & g wwm

15
A
15
16
B
16
13
C
13
10
D
10

Correct Ans : A

Subject : General Aptitude

Q.No: 94 - working alone Jitu and Anuj can complete a work in 15 and 35 days respectively.
2436132 Starting from Jitu, they work on alternate days in such a way that Anuj along with
doing his work also destroys 1429% of work done by Jitu each day. If they are paid

Rs.1295 for the complete work. Find Jitu's share (in rupees), (considering that the
destroyed work will not be counted while giving shares)

IFT FH A GO S, AR I Bl w1 w15 3R 35 R F @ o #)

SN T YT § AW T R F IAA WG @ A T WG § B IS AT T W A
& FRI-AR SN, AR T R BT A w1 1429 W ave 7 Lol W W w

AT 3¢ 1205 39U W ST FRar ST 1 Siiq, w1 REwr wa (s ), (97 4@ §u

A REACIN & aAw ¢ Bw AW Ty A1 qorEr Gg B Fmeeh)

777
A

777

888
B

888

666
C

666

863
D

863

Correct Ans : B

Subject : General Aptitude

Q.No: 95 Four bells ring simultaneously at a certain instant. Thereafter they ring at intervals of 6, 8, 10 and 12 seconds respectively. In how many minutes will they ring together again
2436135 first time?

IR Hfedl tw Ffdd 9Hg R T 91y gonlt &1 59 9% 9 HUR: 6, 8, 10 3R 12 b I SR W aord ¢ | fhart e & a1g 3 e 3 ugelt IR ua 9 el



A - e

2 fiFe

1
2 - minutes
4
B
1
2-f=e
4
1 minute
C
1 e
1
1- minutes
2
D
1
13 e

Correct Ans : A

Subject : General Aptitude

Q.No: 96 To what power -3 should be raised to get -2187 ?

2436154
- 2187 U &1 5 [T -3 @1 urd fabail g1 =nigw?
-7
A
-7
-5
B
-5
15
C
15
7
D
7

Correct Ans : D

Subject : General Aptitude

Q.No: 97  The sum of three consecutive natural numbers each divisible by 5, is 225. The largest among them is-

2436166

5 3 foursg i wAva Tl el BT 9 225 1 ST 99 S91 WO 8-

85
A

85

75
B

75

70
c

70

80
D

80

Correct Ans : D

Subject : General Aptitude

Q.No: 98 There are three tanks with 1139 litres, 1411 litres and 1649 litres of diesel. The greatest possible size of the measuring vessel with which a man can measure up the diesel of
2436967 tank while every time the vessel must be completely filled.

IO & 1139 R, 1411 TR 3R 1649 THex &amar ardt &F TF €1 U 93 V 93 MHR S A dId U D &7l J1d Y o U ot el off € o1 Sivrar g weva @ oafds tm g AR @@
gl



19
23

23
17

17
21

21
Correct Ans : C

Subject : General Aptitude

Q.-No: 99 A man wravels 50 kmat speed 25 kmh and next 40 km at 20 km h and there after travel
2444458 90 1m at15 kmh. His average speed is:

#r§ 7t 50 Fdft. £ aram 25 Bl £y s & a@ w=ar § i arar 40 T framr 20
Frfired. Y e § 9 F=AT g A I arx 90 FHAT. fv avav 15 Fnfid fr v & awEar g
ST Swd AT HTG?

1Skmh

18 FF=fii,
25kmh

25 Ffra.
20kmh

15 F=frre,
Correct Ans : A

Subject : General Aptitude

Q.No: 100 DIRECTIONS: In each of the following number series a wrong number is given. Find the wrong number.
2444665
6, 18, 21, 60, 66, 198, 201

R wde PafafEd g 3w o wer § T ) Tad e 9k B30
6, 18, 21, 60, 66, 198, 201

18
A

18

21
B

21

60
C

60

6
D

6

Correct Ans : C

Subject : General Aptitude






